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4. Which of the following is an ion with a single
negative charge?

a. CH3- O:

b. :0-N=0:

d. All of these

e. None of these

5. In which molecule is the central atom sp® hybridized?
a. CHy
b. :NH3
c. H,O
d. All of these
e. None of these

6. A compound has the empirical formula, CCl. Its
molecular weight is 285 +/- 5. What is the molecular
formula for the compound? (The atomic weights for
carbon and chloride are 12 and 35.5 respectively).

. CzClz

. C3C1;,

. C4Cl4

. C5C15

. C¢Cls

O Q00w

7. CH3CH,OCH,CH; and CH;CH,CH,CH,OH are examples of what are
now termed:
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. Structural isomers

. Resonance structures

. Functional isomers

. Empirical isomers

. Constitutional isomers

8. A non-zero dipole moment is exhibited by:

O Q0w

. SO, '

. CO,

« CCly4

. BF;

. CH,CH; (ethane)

9. The bond angles in PH; would be approximately:

10.
would have a trigonal planr shape?

a
b.
c. NH;* (ammonium ion)
d.

e. CH;* (carbo cation)

O Q00w

60°

. 90°

. 105°
. 109°
« 120°

Based on VSEPR theory, which of the following

(CH3) 3N
HCN

CH;  (carbanion)




